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Find the solution of the linear system graphically. Write your solution in the blank provided.
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Use substitution to solve the !imédr system. SHOW ALL WORK and write your solutidh in the space
provided. :
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Use elimination to solve the linear system. SHOW ALL WORK and write your solution in the space

provided. j
_ma - 2[3x+3y=-9
20 5 Sx-3y=7 243y:=¢ (|-; 2 y o
( JL x+3y=35 j —’)—l 6x+2y=2") 33 shids
39°3 | | 2 --23
bx =& - - +Uj:-l ld |
e +t2y = 2 Gx t 4= A
X :2' “ﬁY (1;' bx s
Use any method to solve the linear system. SHOW ALL WORK and write | 1
your solution in the space provided.
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Systems of Linear Equations Word Problems: P
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8. Bill wants to buy some CDs at the music store. Used ones sell for $4.99, and m

$13.99. He has $75 to spend that he got for his birthday.
a) Write a linear inequality to represent the situation. Can Bill by 4 used OTOrITE

199U + 13990 €75 +99(4T4 159974) £ 76

1990+ 56.9¢C <
9. A store sold 32 pairs of jeans for a total of $1050. Brand A sold for $30 per pair and Brc:nd B sold for
$35 per pair. How many of Brcmd A were sold? A + B = 3 s | A= |4

20R + 2LB° 1050 b: I8
10. You are selling tickets for a basketball game. Student tickets cost $3 and general admission tickets
cost $5. You sell 350 tickets and collect $1450. How many of each type of ticket did you sell?
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Graph the systems of inequalities, an name a solution. 4da$h¢—8§/§'/ F
(3 (9)” 0x-3y<-9 -3 , :

4x+3y">:-gs _3 o -4x+y<—l' lj""lx.’.
R \jz 3;“3 e o¢-1 F
jHSe el sol'd 04 sz R
L yur 'j‘: 3§> _qx_.b < T | ;P
= ( : 3 Al \ré/
N -4 7 - -
v 3 g—x' —2' I ”nr
| 0> -3

Systems of Linear Inequalities Word Problems:

13. Julia and Jackson are raising money for a Mother's Day gift. Theyhave a lemonade stand and
are selling cups of lemonade for $2 each and cookies for $1.50 each. They must raise at least $150.
a. Write an inequality to express the income from the lemonade stand.
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b. They expect to sell at least 3 dozen cookles Write an inequality to represent this situation.
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14. You are looking to buy a bouquet of flowers for your favorite math teacher. Lili)e‘s cost $3.00 each
and royes cost $4.00 each. You have budgeted nomatre than $28 to spend on flowers. Graph a
system of inequailities to illustrate how many of each type of flower you can purchase if you want to
buy at least half a dozen flowers. Exnlain how to use the aranh to determine passible solutions.

mwﬁ‘aL;qR <28 g iy £ 28 x+y 2l
L+ R 20

The Shaded Section
Shows posable Combind ,
of Res3 Lillws —> (HD (235)
Hat SOHSFY +ne inequality (44

12345




